51 Transmission BR 45-55/40 KARCHER

Professional \ Floor cleaner \ Walk behind \ BD 45/40 C Bp *EU \ Spare parts list BR/BD 45-55 / 40 \ Brush-head BR \ Transmission BR 45-55/40

Valid on 18.09.2020 Pagel/4



51 Transmission BR 45-55/40

Professional \ Floor cleaner \ Walk behind \ BD 45/40 C Bp *EU \ Spare parts list BR/BD 45-55 / 40 \ Brush-head BR \ Transmission BR 45-55/40

POS

29
29
11
11

32

36
33

33

27
27
39
37

15
15
31

31
31

16

Article no.
6.401-363.0
6.401-460.0
5.625-318.0
5.625-506.0
5.625-507.0
5.625-357.0
6.612-764.0

Item textl:

6.613-025.0

Item textl:

Item text2:

5.317-188.0
6.610-216.0

Item textl:

6.610-239.0
Item textl
5.053-171.0
5.053-171.0
2.882-699.0
2.641-825.0

5.671-023.0
5.671-022.0
6.613-108.0

Item textl:

Item text2
6.613-215.0
6.613-117.0

Item textl:

Item text2:

4.100-226.0
5.332-114.0
7.311-427.0

Valid on 18.09.2020

Description

Ball bearing

Ball bearing 63001-2RS1

Belt pulley 21Z

Belt pulley21Z L=30mmVERSI
Belt pulley 562

Belt pulley 56Z HTD 3M

Blower wheel

//1.533-100/ -150.0

Blower wheel

//1.533-104/-106/ -110/ -112/ -117/
/-154/-156/-160/ -162.0

AMER

: ATAS

Bolt bearing transport roll BR
Carbon brush set

Carbon brush set ATAS

Carrier motor BR 45-55/40
Carrier motor BR 45-55/40
Conversion kit belt wide BR 45-55/40

Conversion kit sealing synchronous run
B

Cover gear
Covering cap gear
Direct current motor 24V

//1.533-104/ -106/ -110/ -112/-115/

:-117/-154/ -156/ -160/ -162/-167.0

Direct current motor 24V
Direct current motor 24V

//1.533-104/-106/-110/ -112/-115/
-117/-154/ -156/ -160/ -162/-167.0

Driveshaft complete
Helical spring
Hexagon nut M8 -04-A2E DIN 985

Quantity
2.000
2.000
1.000
1.000
2.000
2.000
1.000

1.000

1.000
1.000

1.000

1.000
1.000
1.000
1.000

1.000
1.000
1.000

1.000
1.000

2.000
2.000
1.000

Unit
ST
ST
ST
ST
ST
ST
ST

ST

ST
ZSA

ST

ST
ST
ST
ST

ST
ST
ST

ST
ST

ST
ST
ST

Page2/4

Remark
L=8mm

L=12mm
L=25mm
L=30mm
L=24mm
L=19mm

L=17,5mm

L=96,5mm
L=91,5mm

Foot note text

VERSION 2
VERSION 1

VERSION 1
VERSION 2

VERSION 2
VERSION 1

KARCHER



51 Transmission BR 45-55/40 KKRCHER

Professional \ Floor cleaner \ Walk behind \ BD 45/40 C Bp *EU \ Spare parts list BR/BD 45-55 / 40 \ Brush-head BR \ Transmission BR 45-55/40

POS Article no. Description Quantity Unit Remark Foot note text
30 7.343-003.0 Locking ring 12x1-Rf-St DIN 471 1.000 ST
20 7.343-151.0 Locking ring 28x1,2-FST-RF DIN 472 1.000 ST
2 6.613-116.0 Motor 230V / 50Hz 1.000 ST L=91,5mm
Item textl: //1.533-100/-150.0
2 6.613-214.0 Motor 230V / 50Hz 1.000 ST L=96,5mm
Item textl: //1.533-100/-150.0
2 6.613-107.0 Motor 230V / 50Hz 1.000 ST L=16,5mm
Item textl: //1.533-100/-150.0
29 5.625-518.0 Pinion small only for replacement 2.000 ST L=30mm VERSION 2
24 5.056-010.0 Rocker BR-VS 1.000 ST
4.762-408.0 Roller brush complete black BR 45/40 2.000 ST
4.762-412.0 Roller brush complete black BR 55/40 2.000 ST
3 4.035-184.0 ROLLER BRUSH COMPLETE FOR 2.000 ST STANDARD
REPLACEMENT BR
3 4.762-407.0 Roller brush complete green BR 45/40 2.000 ST
3 4.762-411.0 Roller brush complete green BR 55/40 2.000 ST
3 4.762-406.0 Roller brush complete orange BR 45/40 2.000 ST
3 4.762-410.0 Roller brush complete orange BR 55/40 2.000 ST
3 4.762-392.0 Roller brush complete red BR 45/40 2.000 ST STANDARD
3 4.762-405.0 Roller brush complete white BR 45/40 2.000 ST
3 4.762-409.0 Roller brush complete white BR 55/40 2.000 ST
18 7.303-186.0 Saucer-head screw M8x40 -St-AOP DIN  1.000 ST
603
14 7.303-038.0 Screw M5x12 -St-P2R (In6Rd) 4.000 ST QUANTITY ACCORDING TO DEMAND
41 7.303-039.0 Screw M5x16 -St-P2R (In6Rd) 1.000 ST
13 7.306-087.0 Screw M6x10 -8.8-R3R (In6Rd) 2.000 ST
35 7.306-193.0 Screw M6x16 -A2-70 (In6Rd) 1.000 ST
25 7.306-201.0 Screw M 6x55-A2-70 (IN6RD) 4.000 ST
34 7.312-232.0 Serrated lock washer A6,4-FSt-A3E DIN  1.000 ST
6
42 4.035-611.0 Set transmission power brush 3.000 ST
28 4.100-246.0 Shaft complete synchronous run 1.000 ST L=27mm
28 4.100-124.0 Shaft gear right BR VS 1.000 ST L=21mm
38 5.010-269.0 Sheet metal component clamp cover BR 1.000 ST

Valid on 18.09.2020 Page3/4



51 Transmission BR 45-55/40

Professional \ Floor cleaner \ Walk behind \ BD 45/40 C Bp *EU \ Spare parts list BR/BD 45-55 / 40 \ Brush-head BR \ Transmission BR 45-55/40

KARCHER

POS

23
21
19
19
22
22
40
12
26
17

Article no.

4.038-677.0
5.110-700.0
4.250-083.0
4.250-084.0
6.348-429.0
6.348-466.0
7.312-278.0
7.312-276.0
7.312-026.0
7.312-017.0

Valid on 18.09.2020

Description

45-

Sheet metal component thread deflector
Sleeve

Tension roller D = 33,5

Tension roller D=33,5mm

Toothed belt HTD-597-3M-15 CXPIII
Toothed belt HTD-597-3M-20 CXP Il
Washer 5-200HV-A2E 1SO7093-1
Washer 6 -200HV-A2E I1SO7093-1
Washer 6 -A2 ISO 7089

Washer 8-A2 I1SO 7089

Quantity

1.000
1.000
1.000
1.000
1.000
1.000
1.000
2.000
4.000
1.000

Unit

ST
ST
ST
ST
ST
ST
ST
ST
ST
ST

Page 4/ 4

Remark

L=28mm
L=33mm
L=15mm
L=20mm

Foot note text


http://www.tcpdf.org

